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(*.";*,\ : Consider & siueicn in which you want o expend the key ¢f ‘the AES. that
e affects fewd rounds; explain the whole concept with a' suitable diagram.
Meation the possible cnallenges of the Symmetric Key Cryptography.

2 i.  Blockchain is a decentralized network so how noc_l_;éé” achleve the consensus  [4x3]

CO2 among each other to maintain the consistent:state of the distributed ledger. And
mention the strategy to deal when an adveré,_ i3 trying to propose a forgery
block in the network. N i

ii.  Multiple miners can come up witt_l:___;jthe.‘_jﬁéw;.;bl0..'ck then how blockchain wil;
keep consistent state by adopting only on# block and ignore the rest,

in - Specify e block structure of the Bitcoin blockchain with description of
individua: fields. e

Q3. i A game theon; is. iréijy 'imjibrtant for the blockchain, define the state of Nash [3x2]

cO3 Equilibrium with proper example.

i, Suppose. wé cofistrict a transaction-chain instead of blockchain then wha:
could be the possible issees sncountered.,

i, The gi_;'..:;."cf the blockehair s mereases regulatly and it is more than 200GB. i
15 complex for the miners 1o verity and validate the transactions faster to mak 2
network ciftcient. To overcome this issue which data structure 1s used to verify
the transaction moi sasily and even by light node.

Q4. Blockchais is very cumputationally intensive kind of technology. so it is
CO designed for «mall amount of data bt we are also using i in nuany heavy
loaded applications and that can create an issue of scalability.
Therefore, mention both approaches to counter the issue of scalabitity.



